

Solution of the Linear and Non-Linear Schrödinger Equations Using Homotopy Perturbation and Adomian Decomposition Methods

J. Biazar ¹, R. Ansari, K. Hosseini, P. Gholamin

Department of Mathematics, Faculty of Sciences
The University of Guilan, P.O. Box 1914, Rasht, Iran

Department of Mechanical Engineering, Guilan University
P.O. Box 3756, Rasht, Iran

Department of Mathematics, Islamic Azad University
Lahijan Branch, P. Code 1616, Lahijan, Iran

Abstract

In this paper, homotopy perturbation method (HPM) and Adomian decomposition method (ADM) are employed to solve the linear and non-linear Schrödinger equations. To illustrate the capability and reliability of the methods, some examples are provided. The results obtained using HPM and ADM are compared with the results of variational iteration method (VIM) and then the ability of each method are also discussed.

Keywords: Schrödinger equation; Homotopy perturbation method; Adomian decomposition method; Variational iteration method

1 Introduction

Homotopy perturbation method was established in 1999 by He [1]. The method is a powerful and efficient technique to find the solutions of non-linear equations. The coupling of the perturbation and homotopy methods is called the homotopy perturbation method. This method can take the advantages of the conventional perturbation method while eliminating its restrictions. HPM has been applied by many authors [2-4] to solve many types of the linear and non-linear equations in science and engineering.

¹Corresponding author. E-mail address: biazar@guilan.ac.ir

2 The linear and non-linear Schrödinger equations

The linear Schrödinger equation can be expressed in the following form [5]:

$$u_t + iu_{xx} = 0, \quad (1)$$

$$u(x, 0) = f(x).$$

There also exists another type of this equation which is called the non-linear Schrödinger and can be expressed as follows [5]:

$$iu_t + u_{xx} + \eta|u|^2u = 0, \quad (2)$$

$$u(x, 0) = f(x).$$

where η is a constant. These equations also occur in the non-linear optics, plasma physics, superconductivity and quantum mechanics.

3 Homotopy perturbation method (HPM)

To illustrate the basic idea of this method, we consider the following non-linear differential equation:

$$A(u) - f(r) = 0, \quad r \in \Omega, \quad (3)$$

with the following boundary conditions:

$$B(u, \frac{\partial u}{\partial n}) = 0, \quad r \in \Gamma, \quad (4)$$

where A is a general differential operator, B is a boundary operator, $f(r)$ is a known analytical function and Γ is the boundary of the domain Ω . The operator A can be decomposed into a linear part and a non-linear one, designated as L and N respectively. Hence Eq.(3) can be written as the following form:

$$L(u) + N(u) - f(r) = 0.$$

Using homotopy technique, we construct a homotopy $v(r, p) : \Omega \times [0, 1] \longrightarrow R$ which satisfies:

$$H(v, p) = (1 - p)[L(v) - L(u_0)] + p[A(v) - f(r)] = 0, \quad (5)$$

where $p \in [0, 1]$ is an embedding parameter and u_0 is an initial approximation of Eq.(3) which satisfies the boundary conditions. Obviously, from Eq.(5) we will have:

$$H(v, 0) = L(v) - L(u_0) = 0,$$

$$H(v, 1) = A(v) - f(r) = 0.$$

By changing the value of p from zero to unity, $v(r, p)$ change from $u_0(r)$ to $u(r)$, in topology this is called deformation, and $L(v) - L(u_0)$ and $A(v) - f(r)$ are called homotopic. Due to the fact that $p \in [0, 1]$ can be considered as a small parameter, thus we consider the solution of Eq.(5) as a power series in p as the following:

$$v = v_0 + pv_1 + p^2v_2 + \dots, \quad (6)$$

setting $p = 1$ results in the approximate solution for Eq.(3)

$$u = \lim_{p \rightarrow 1} v = v_0 + v_1 + v_2 + \dots. \quad (7)$$

4 Adomian decomposition method (ADM)

According to the analysis of Adomian decomposition method, Eq.(2) can be written in the following operator form:

$$iLu + Ru + Nu = 0, \quad u(x, 0) = f(x), \quad (8)$$

where $L = \frac{\partial}{\partial t}$ and $R = \frac{\partial^2}{\partial x^2}$ are the linear operators and $Nu = \eta|u|^2u$ is a non-linear term.

Adomian decomposition method assumes that the unknown function $u(x, t)$ can be expressed by an infinite series in the form:

$$u(x, t) = \sum_{n=0}^{\infty} u_n(x, t), \quad (9)$$

and the non-linear term $Nu = \eta|u|^2u = \eta u^2 \bar{u}$ can be decomposed into an infinite series of polynomials given by

$$Nu = \sum_{n=0}^{\infty} A_n(u_0, u_1, \dots, u_n), \quad (10)$$

where the components $u_n(x, t)$ are usually determined recurrently and $A_n(u_0, u_1, \dots, u_n)$ are called Adomian polynomials that are defined by

$$A_n = \frac{1}{n!} \left[\frac{d^n}{d\lambda^n} N \left(\sum_{i=0}^{\infty} \lambda^i u_i \right) \right]_{\lambda=0}, \quad n = 0, 1, 2, \dots. \quad (11)$$

The Adomian polynomials can be calculated for all forms of nonlinearity according to algorithms set by Adomian [6]. There are also the other different methods to calculate Adomian polynomials (for example, see [7] and the references therein).

The inverse operator L^{-1} is an integral operator given by $L^{-1}(\cdot) = \int_0^t (\cdot) dt$. Applying $-iL^{-1}$ to both sides of Eq.(8), we obtain:

$$u(x, t) = u(x, 0) + iL^{-1}(Ru + Nu). \quad (12)$$

Substituting Eqs. (9) and (10) into (12) gives

$$\sum_{n=0}^{\infty} u_n(x, t) = u(x, 0) + iL^{-1}\left[R\left(\sum_{n=0}^{\infty} u_n\right) + \sum_{n=0}^{\infty} A_n(u_0, u_1, \dots, u_n)\right]. \quad (13)$$

From (13) we define:

$$u_0(x, t) = u(x, 0), \quad (14)$$

$$u_{n+1}(x, t) = iL^{-1}(Ru_n + A_n) \quad n = 0, 1, 2, \dots \quad (15)$$

5 Test examples

Example 1. Consider the following linear Schrödinger equation with the indicated initial condition:

$$u_t + iu_{xx} = 0, \quad (16)$$

$$u(x, 0) = e^{(3ix)}.$$

HPM: Using HPM, we construct the following homotopy:

$$H(v, p) = (1 - p)\left[\frac{\partial v}{\partial t} - \frac{\partial u_0}{\partial t}\right] + p\left[\frac{\partial v}{\partial t} + i\frac{\partial^2 v}{\partial x^2}\right] = 0. \quad (17)$$

Substituting Eq.(6) into Eq.(17) and equating the terms with identical powers of p leads to:

$$\begin{aligned} p^0 & : \frac{\partial v_0}{\partial t} - \frac{\partial u_0}{\partial t} = 0, & v_0(x, 0) & = e^{(3ix)}, \\ p^1 & : \frac{\partial v_1}{\partial t} + \frac{\partial u_0}{\partial t} + i\frac{\partial^2 v_0}{\partial x^2} = 0, & v_1(x, 0) & = 0, \\ p^2 & : \frac{\partial v_2}{\partial t} + i\frac{\partial^2 v_1}{\partial x^2} = 0, & v_2(x, 0) & = 0, \\ & \vdots & & \end{aligned} \quad (18)$$

Consider $u_0(x, t) = e^{(3ix)}$ as a first approximation for the solution that satisfies the initial condition. Solving the Eqs.(18) successively leads to:

$$v_0(x, t) = e^{(3ix)},$$

$$\begin{aligned}v_1(x, t) &= (9it)e^{(3ix)}, \\v_2(x, t) &= \frac{(9it)^2}{2!}e^{(3ix)}, \\&\vdots\end{aligned}$$

Hence, the solution of Eq.(16) when $p \rightarrow 1$ will be as the following:

$$u(x, t) = e^{(3ix)} + (9it)e^{(3ix)} + \frac{(9it)^2}{2!}e^{(3ix)} + \dots = e^{3i(x+3t)},$$

which is an exact solution and is the same as that reported in [5].

ADM: Using $u_0(x, t) = u(x, 0)$ and $u_{n+1} = -i \int_0^t (\frac{\partial^2 u_n}{\partial x^2}) dt \quad n = 0, 1, 2, \dots$, we drive:

$$\begin{aligned}u_0(x, t) &= e^{(3ix)}, \\u_1(x, t) &= (9it)e^{(3ix)}, \\u_2(x, t) &= \frac{(9it)^2}{2!}e^{(3ix)}, \\&\vdots\end{aligned}$$

Hence:

$$u(x, t) = e^{(3ix)} + (9it)e^{(3ix)} + \frac{(9it)^2}{2!}e^{(3ix)} + \dots = e^{3i(x+3t)},$$

which is an exact solution and is the same as that obtained by VIM [5].

Example 2. Consider the following non-linear Schrödinger equation with the indicated initial condition:

$$iu_t + u_{xx} + 2|u|^2u = 0, \quad (19)$$

$$u(x, 0) = e^{ix}.$$

HPM: Using HPM, we construct a homotopy in the following form:

$$H(v, p) = (1 - p)\left[\frac{\partial v}{\partial t} - \frac{\partial u_0}{\partial t}\right] + p\left[\frac{\partial v}{\partial t} - i\left(\frac{\partial^2 v}{\partial x^2} + 2v^2\bar{v}\right)\right] = 0. \quad (20)$$

where $v^2\bar{v} = |v|^2v$ and \bar{v} is the conjugate of v .

Substituting Eq.(6) into Eq.(20) and equating the terms with identical powers of p , leads to:

$$\begin{aligned}
 p^0 & : \frac{\partial v_0}{\partial t} - \frac{\partial u_0}{\partial t} = 0, & v_0(x, 0) &= e^{ix}, \\
 p^1 & : \frac{\partial v_1}{\partial t} + \frac{\partial u_0}{\partial t} - i\left(\frac{\partial^2 v_0}{\partial x^2} + 2v_0^2 \bar{v}_0\right) = 0, & v_1(x, 0) &= 0, \\
 p^2 & : \frac{\partial v_2}{\partial t} - i\left(\frac{\partial^2 v_1}{\partial x^2} + 2(v_0^2 \bar{v}_1 + 2v_1 v_0 \bar{v}_0)\right) = 0, & v_2(x, 0) &= 0, \\
 & \vdots & &
 \end{aligned} \tag{21}$$

Let's select $u_0(x, t) = e^{ix}$ as an initial approximation that satisfies the initial condition. From Eqs.(21), the following terms can be computed successively:

$$\begin{aligned}
 v_0(x, t) &= e^{ix}, \\
 v_1(x, t) &= (it)e^{ix}, \\
 v_2(x, t) &= \frac{(it)^2}{2!}e^{ix}, \\
 &\vdots
 \end{aligned}$$

Therefore, the solution of Eq.(19) when $p \longrightarrow 1$ will be as follows:

$$u(x, t) = e^{ix} + (it)e^{ix} + \frac{(it)^2}{2!}e^{ix} + \dots = e^{i(x+t)},$$

which is an exact solution and is the same as that reported in [5].

ADM: Applying Eqs.(14) and (15), we will drive:

$$\begin{aligned}
 u_0(x, t) &= e^{ix}, \\
 u_1(x, t) &= (it)e^{ix}, \\
 u_2(x, t) &= \frac{(it)^2}{2!}e^{ix}, \\
 &\vdots
 \end{aligned}$$

Therefore:

$$u(x, t) = e^{ix} + (it)e^{ix} + \frac{(it)^2}{2!}e^{ix} + \dots = e^{i(x+t)},$$

which is an exact solution and is the same as that obtained by VIM [5].

6 Conclusion

In this paper, homotopy perturbation and Adomian decomposition methods have been successfully applied to solve the linear and non-linear Schrödinger equations. It was shown that these methods are very efficient and powerful to get the exact solution. Comparison among HPM, ADM and VIM shows that although the results of these methods when applied to solve the Schrödinger equation are in good agreement, HPM can overcome the difficulties arising in calculation of Adomian's polynomials. Also this method does not require construction of correction functional using general lagrange multipliers, such as VIM and is much easier and more convenient than ADM and VIM. The computations associated with the examples provided here were performed by using Maple 10.

References

- [1] J. H. He, Homotopy perturbation technique, *Comput. Meth. Appl. Mech. Eng.* 178 (1999) 257-262.
- [2] J. Biazar, H. Ghazvini, Exact solution for non-linear Schrödinger equations by He's Homotopy perturbation method, *Phys. Lett. A*, in press, doi:10.1016/j.physleta. 2007.01.060.
- [3] J. H. He, Application of homotopy perturbation method to nonlinear wave equations, *Chaos, Solitons and Fractals* 26 (2005) 695-700.
- [4] Zaid Odibat, Shaher Momani, A reliable treatment of homotopy perturbation method for Klein-Gordon equations, *Phys. Lett. A* 356 (2007) 351-357.
- [5] A. M. Wazwaz, A study on linear and non-linear Schrodinger equations by the variational iteration method, *Chaos, Solitons and Fractals* , in press, doi:10.1016/j.chaos. 2006.10.009.
- [6] G. Adomian, *Solving Frontier Problems of Physics: The Decomposition Method*, Kluwer Academic Publishers, Boston, 1994.
- [7] J. Biazar, E. Babolian, R. Islam, An alternative algorithm for computing Adomian polynomials in special cases, *Appl. Math. Comput.* 138 (2003) 523-529.

Received: December 14, 2007